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SASHEAY
M AMRATH (BER2ED)
CHe D[ =AY (el &)
A -3 -H2A(SH) - HEAMY - BES Off &K ) = e Hlns2t
ORANRY SUHM(MYESHBOI YO AZ2NH) 33X 2,520,000 2,520 2,800 A280
202 01 H 2,160 2,400 A 240
01 2U0itl 2,160 2,400 A240
ORNMESE SUHA(MESH OISO AR 2HH) 28 2,160,000 2,160 2,400 A240
SZ0I3tEE JI2AY 12,204 13,560 A1,356
201 2Bt A 5,400 6,000 AB00
01 At222|H| 5,400 6,000 AB00
Oolger2&l] 2,700 3,000 A300
ORAN2Y SUHM(MYESHTOI O AZ2NH) 33X 2,700,000 2,700 3,000 A300
OIF=r=1:1) 2,700 3,000 A300
ORANRY SUHM(MYESHBOIHAZ2ZNH) 33X 2,700,000 2,700 3,000 A300
202 01 H 6,804 7,560 AT56
01 2U0idl 6,804 7,560 NT56
ORANRY SUAHM(MESHTOIHo AZ2NH) 33 6,804,000 6,804 7,560 AT56
SHAESY JI=2AH| 11,628 12,920 A1,292
201 LBt A 5,364 5,960 A596
01 At222|H| 5,364 5,960 596
olger+=g4l] 2,764 3,360 596
ORANRY SUHM(MESTHOIHAZ2NH) 3 2,764,000 2,764 3,360 596
202 01 H 6,264 6,960 A6
01 2U0il 6,264 6,960 1696
SNEY SUHA(MYESZ OISO AT 2ZH) 3 6,264,000 6,264 6,960 1696
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